
Tighten bolts on the top 
before tightening bolts 
on the front and back

Description Quantity
M10x25 bolt 12

M10 nyloc nut 12
M10 washer 24

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
1 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:6
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

CVS-1SMA A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Description Quantity
M10x25 bolt 8

M10 nyloc nut 8
M10 washer 16

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
2 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:8
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

CVS-1SMA A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Only applicable for medium and large frames

M10x30 bolt through 
top of brace

Description Quantity
M10x25 bolt 4
M10x30 bolt 4

M10 nyloc nut 8
M10 washer 16

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
3 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:10
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

CVS-1SMA A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Tighten bolts on the side 
before tightening bolts 
on the front and back

Description Quantity
M10x25 bolt 12

M10 nyloc nut 12
M10 washer 24

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
4 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:10
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

CVS-1SMA A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Alternatively bolt the frame 
directly to the conveyer 
belt structure without using 
this foot plate

Description Quantity
M12x35 bolt 4

M12 nyloc nut 4
M12 washer 8

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
5 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:10
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

CVS-1SMA A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Description Quantity
M8x16 bolt 6
M8 washer 6

M8 spring washer 6

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
6 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:10
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

CVS-1SMA A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



Screw wi-fi antenna 
to outside of wi-fi 
cover Screw wi-fi 

cable to inside 
of wi-fi cover

Description Quantity
M6x10 screw 4
M6 washer 4

M6 spring washer 4

105 Higgins Road, Dinsdale, 
Hamilton, New Zealand

 Tel: +64 7 847 5777
Fax: +64 7 847 4807

3rd Angle
PROJECTION

DO NOT 
SCALE

Dimensions in 
mm

www.LOADSCAN.com

Sheet:Drawing Number:
7 of 7 Approved by:

Description:Drawn by:

Drawn Date:

Drawing 
Scale:Brad Webb

1:10
6/11/2018

Conveyer volume scanner, medium

               
A

Revision:

A A

B B

C C

D D

E E

F F

G G

H H

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

CVS-1SM


	Sheet1
	Drawing View1

	Sheet2
	Drawing View9
	Detail View B (1 : 4)

	Sheet3
	Drawing View7
	Detail View A (1 : 4)

	Sheet4
	Drawing View11
	Detail View C (1 : 5)

	Sheet5
	Drawing View13
	Detail View E (1 : 4)

	Sheet6
	Drawing View15

	Sheet7
	Drawing View16
	Detail View F (1 : 4.5)


